Physics 106a/196a – Problem Set 6 – Due Nov 17, 2006 Solutions

Andrey Rodionov, Peng Wang

Version 3: December 4, 2006

Version 2: Corrected solution to 3(b)(iii). **Version 3:** Corrected missing exponents on 4th page of solution to 3.

Problem 1

(a) The Hamiltonian is

$$H = \frac{p^2}{2m} \equiv E$$

and has constant value E. Therefore, we may find p = p(E):

$$p = \sqrt{2mE}$$

from which we see the particle oscillates between 0 and L. The action variable is thus

$$I = \frac{1}{2\pi} \oint p dx$$

= $\frac{1}{2\pi} 2 \int_0^L \sqrt{2mE} dx$
= $\frac{L}{\pi} \sqrt{2mE}$
 $\Rightarrow E = \frac{\pi^2 I^2}{2mL^2}$ (1)

The oscillation period is

$$T = 2\pi \left(\frac{\partial E}{\partial I}\right)^{-1}$$
$$= 2\pi \frac{mL^2}{\pi^2 I}$$
$$= \frac{2mL^2}{L\sqrt{2mE}}$$
$$= \frac{2L}{\sqrt{\frac{2E}{m}}}$$

On the other hand, the velocity of the particle with the kinetic energy E is given by

$$v=\sqrt{\frac{2E}{m}}$$

So the period of the motion is

$$T = \frac{2L}{\sqrt{\frac{2E}{m}}}$$

(b) The momentum of the particle is

$$p = \sqrt{2mE}$$

During one period, $\Delta t = \frac{2L}{\sqrt{\frac{2E}{m}}}$, we have

Adiabatic invariance implies I is constant to first order even as L varies. So Eq. (1) implies

$$0 = \frac{dI}{dt} = \frac{d}{dt} \left(\frac{L}{\pi} \sqrt{2mE} \right)$$

$$\Rightarrow \sqrt{E} \frac{dL}{dt} + \frac{L}{2\sqrt{E}} \frac{dE}{dt} = 0$$

$$\Rightarrow \frac{dE}{dt} = -\frac{2E}{L} \frac{dL}{dt}$$
(2)

and

$$\frac{d\langle F\rangle}{dt} = \frac{d}{dt} \left(\frac{2E}{L}\right) = \frac{2}{L} \frac{dE}{dt} - \frac{2E}{L^2} \frac{dL}{dt}$$
$$= -\frac{6E}{L^2} \frac{dL}{dt} = \frac{3}{L} \frac{dE}{dt}$$

Eq. (2) gives us

$$\frac{dE}{dt} = -\frac{2E}{L}\frac{dL}{dt} \Rightarrow \frac{d\left(\ln E + 2\ln L\right)}{dt} = 0 \Rightarrow EL^2 = \text{constant}$$

since $V = L^3$ and $E \propto T$ for ideal gas then we have

$$TV^{\frac{2}{3}} = \text{constant}$$

which are the ideal monatomic gas adiabatic relation $TV^{\frac{2}{3}} = \text{constant}$.

Problem 2

(a) The solution to the EOM

$$\ddot{mq} + \frac{m\omega}{Q}\dot{q} + m\omega^2 q = F_0 e^{i\phi_0} e^{i\omega't}$$

takes the form

$$q(t) = q_p(t) + q_h(t)$$

where

$$q_p(t) = \operatorname{Re}\left[\frac{F_0 e^{i\phi_0} e^{i\omega't}}{m\omega^2 - m\omega'^2 + \frac{im\omega\omega'}{Q}}\right]$$

is the steady-state term and

$$q_h(t) = \exp\left(-\frac{\omega t}{2Q}\right) \left[A_1 \cos \omega t + A_2 \sin \omega t\right]$$
$$= \operatorname{Re}\left[A \exp\left(-\frac{\omega t}{2Q}\right) \exp\left(i\omega t + i\phi\right)\right]$$

is the transient term. If there is no transient term, on has $A_1 = A_2 = 0$ and then obtains

$$\begin{aligned} q(t) &= \operatorname{Re}\left[\frac{F_0 e^{i(\omega' t + \phi_0)}}{m\omega^2 - m\omega'^2 + \frac{im\omega\omega'}{Q}}\right] \\ &= \frac{F_0}{m\omega^2} \operatorname{Re}\left[\frac{e^{i(\omega' t + \phi_0)}}{1 - \frac{\omega'^2}{\omega^2} + \frac{i\omega'}{Q\omega}}\right] \\ &= \frac{F_0}{m\omega^2} \operatorname{Re}\left[\frac{1 - \frac{\omega'^2}{\omega^2} - \frac{i\omega'}{Q\omega}}{\left(1 - \frac{\omega'^2}{\omega^2}\right)^2 + \left(\frac{\omega'}{Q\omega}\right)^2} \left(\cos\left(\omega' t + \phi_0\right) + i\sin\left(\omega' t + \phi_0\right)\right)\right] \\ &= \frac{F_0}{m\omega^2}\left[\frac{F_0}{\left(1 - \frac{\omega'^2}{\omega^2}\right)^2 + \left(\frac{\omega'}{Q\omega}\right)^2}{\left(1 - \frac{\omega'^2}{\omega^2}\right)^2 + \left(\frac{\omega'}{Q\omega}\right)^2}\right] \left(\cos\left(\omega' t + \phi_0\right) \left(1 - \frac{\omega'^2}{\omega^2}\right) + \sin\left(\omega' t + \phi_0\right) \frac{\omega'}{Q\omega}\right) \end{aligned}$$

So we have

$$x_{0} = q(0) = \frac{F_{0}}{m\omega^{2}} \operatorname{Re} \left[\frac{e^{i\phi_{0}}}{1 - \frac{\omega'^{2}}{\omega^{2}} + \frac{i\omega'}{Q\omega}} \right]$$
$$= \frac{F_{0} \left[\cos\phi_{0} \left(1 - \frac{\omega'^{2}}{\omega^{2}} \right) + \sin\phi_{0} \frac{\omega'}{Q\omega} \right]}{m\omega^{2} \left[\left(1 - \frac{\omega'^{2}}{\omega^{2}} \right)^{2} + \left(\frac{\omega'}{Q\omega} \right)^{2} \right]}$$
$$v_{0} = \dot{q}(0) = \frac{F_{0}\omega'}{m\omega^{2}} \operatorname{Re} \left[\frac{ie^{i\phi_{0}}}{1 - \frac{\omega'^{2}}{\omega^{2}} + \frac{i\omega'}{Q\omega}} \right]$$
$$= \frac{F_{0}\omega' \left[-\sin\phi_{0} \left(1 - \frac{\omega'^{2}}{\omega^{2}} \right) + \cos\phi_{0} \frac{\omega'}{Q\omega} \right]}{m\omega^{2} \left[\left(1 - \frac{\omega'^{2}}{\omega^{2}} \right)^{2} + \left(\frac{\omega'}{Q\omega} \right)^{2} \right]}$$

in order that there be no transient term.

(b) If $x_0 = 0$ and $v_0 = 0$, we then have

$$q_{h}(0) = \operatorname{Re} \left\{ A \exp \left[i \left(\omega t + \phi \right) \right] \right\}$$
$$= -q_{p}(0)$$
$$= \operatorname{Re} \left[\frac{F_{0} e^{i(\phi_{0} + \pi)}}{m\omega^{2} - m\omega'^{2} + \frac{im\omega\omega'}{Q}} \right]$$
$$= \frac{F_{0}}{m\omega^{2}} \operatorname{Re} \left[\frac{e^{i(\phi_{0} + \pi)}}{1 - \frac{\omega'^{2}}{\omega^{2}} + \frac{i\omega'}{Q\omega}} \right]$$
$$= \frac{F_{0}}{m\omega^{2}} \frac{1}{\sqrt{\left(1 - \frac{\omega'^{2}}{\omega^{2}}\right)^{2} + \left(\frac{\omega'}{Q\omega}\right)^{2}}} \operatorname{Re}[e^{i(\phi_{0} + \pi + \psi)}]$$

where

$$\tan\psi=-\frac{1-\frac{\omega'^2}{\omega^2}}{\frac{\omega'}{Q\omega}}$$

So the amplitude and phase are

$$A = \frac{F_0}{m\omega^2} \frac{1}{\sqrt{\left(1 - \frac{\omega'^2}{\omega^2}\right)^2 + \left(\frac{\omega'}{Q\omega}\right)^2}}$$
$$\phi = \phi_0 + \pi + \psi$$
$$= \phi_0 + \pi - \arctan\left(\frac{1 - \frac{\omega'^2}{\omega^2}}{\frac{\omega'}{Q\omega}}\right)$$

3 Ľ E PART A $= \begin{cases} let's define spherical worki-$ whates (r, P, Y) with the center ofthe hoop being the origin.We know from the previoushomework to spherical cooked <math>T=lm(r+r+2). (in fact, student when the memories if r=R(=const), f=2tm(r+r+2). r=R(=const), f=2t because dt=1(i) => let's define functions Gr = r-R=0 20 Ē $\left|\frac{d}{dt}\left(\frac{\partial L}{\partial \phi}\right) - \frac{\partial L}{\partial \theta} = O \quad (no \quad constraint in \theta)\right|$ Let's Now WRite the modified Euler-Lagrunge equations (with Lagrange multipliers) which will allow us to calculate the constraint $\frac{d}{dt}\left(\frac{\partial L}{\partial r}\right) - \frac{\partial L}{\partial r} - \frac{\partial L}{\partial r} = O;$ Forces. $O = \frac{4t}{7e} dt - \frac{de}{7e} - \left(\frac{de}{7e}\right) \frac{3f}{7e}$ where potential energy is given by U=-mgr.cost. (sign "mixus" is due to the choice of angle & in Hand& Finch : | total cheres, U must be the smallert for &=0) (n)

Note: Factors of Ω corrected to Ω^2 in expressions for λ_r and N_r in handwritten page 4.

ors on and the stand of the single of the stand of the st $r = R; \quad r = r = 0; \quad f = \mathcal{N}; \quad \phi = 0$ itly: mr-mrd-mrsind. p-mguso-4=0. mr=cha. c.2 use constraints $mr^{2} \sin \theta \cos \theta \phi^{2} - mar \sin \theta - am \epsilon \epsilon \theta - mr^{2} \sin^{2} \theta - mr^{2} \sin^{2} \theta - mr^{2} \theta = 0$ $mr^{2} \sin^{2} \theta - \phi + 2mr^{2} \sin \theta \cos \theta - a\psi + e^{2} - am \epsilon \sin^{2} \theta - r^{2} - \lambda_{f} = 0$ Are centripetal terms (frees) for the circulie motion in D and U respectively. (in other words the first term ~ 02 due to the hoop's rotation about its diameter and the second term is due to the motion of the bead around the hoop). LAGRANGE multipliers in and it alles " us to calculate the constraint forces. The third term -mg cost is due to gravity. It is IF= mg prejected ento p. Nr = - mRO2 - mRillisined - mg.c. so From eq. (5) FOR ~ on the previous page: The first two terms in this expression In = - mR. J. - mR. sin 2 D. - mgcoso $\mathcal{M} = \underbrace{\sum}_{e} \mathcal{A}_{e} \cdot \frac{\partial G_{r}}{\partial r} = \mathcal{A}_{r} \cdot \frac{\partial G_{r}}{\partial r} = \mathcal{A}_{r} \cdot \mathcal{A} = \mathcal{A}_{r}$ (\mathbf{r})

Ny depends on it because changing angle O changes the Radius of the circle about the diameter the bead would make FROM q. (5) FOR A: and $N_{\phi} = \lambda_{\phi} \cdot \frac{\partial G_{\phi}}{\partial \phi} = \lambda_{\phi}$ if Q would be constant. Az = amR? D. sinf. cos p. o Ny = 2m R² N. SiN B.c. D. D. IN other words, Nor 26 Pt, und Po dependence. In other words, Nor 26 Pt, und Po dependence. Y

 $(7)\left| \dot{\Theta} - \mathcal{N}^{2} \sin \Theta \cos \Theta + \frac{2}{R} \sin \theta = 0 \right|$ L= m/ (R2+ R2 sin2+ M2) + my Rices 8, We could, in first, quickly obtain it from Lagringian L with constant values of MER. I q-U. Consider two cases: 1°. N < 12 or Ness < 2 then (Nºcosteg - 2) × always nonzero then (Nºcosteg - 2) × always nonzero then (Nºcosteg - 2) × always nonzero two Qeo.: [O=0] or [O==== (i) Find equilibrium values of Q;
 in equilibrium d = 0 ⇒ Let's start from equation for a => mRZ - mRZ interst R2 + mgR sint =0 PRoblem 3 PARt (B) $R \cdot sin \Re_2 \cdot \left(\mathcal{M}^2 \cos \Re_2 - \frac{2}{R} \right) = 0$ $\sin \Theta_{e_2} \cdot \left(R \Omega^2 \cdot \sigma S \Theta_{e_2} - q \right) = 0$ 6

H = ARCCOS & existence of this Value depends on the angular speed D the this purpose define D = Deg + D \mathcal{A}^{o} , $\mathcal{A} \sim \sqrt{\frac{9}{R}}$, then is addition to $\mathcal{G}_{ey} = 0$ and $\mathcal{G}_{ex} = \pi$ we have now $\left| \cos \theta_{ex} = \frac{9}{R} \right|_{2}$ So, if N < V = there are two equilibrium $R_{1}^{2} + (q \cdot \omega s R_{2} - R R \cdot \omega s 2 R_{2}) - R R \cdot sin R_{2} \omega k_{1}^{2}$ So there are now three possible Where pis a small quantity Keeping the first-crocer terms Equilibrium sositions A=0, A=J, J== (J=+) positions Q=0 or Q=TI. If $N > \sqrt{\frac{2}{R}} > \frac{Beth(Reg = 0)}{Beth(Reg = 0)}$ and $\frac{Ce}{Reg = 1}$ In other words the bettern position can be stable but the upper position ($\theta = \pi$) cannet be stable If $\mathcal{N} < \sqrt{\frac{a}{R}} \Rightarrow (1) \operatorname{Cueff}$, is the brackes (purintheses) is positive for [Stable] Stable] Eq. =0. > ve have $2 + \left(\frac{2}{R}\cos\Theta_{e_{f}} - \Omega^{2}\cos2\Theta_{e_{f}}\right) p_{-O}$ in the equilibrium position. Q=0 \Rightarrow according to ECM (7) RN Sinteas $2+q \sin \theta = 0$ If $U > \sqrt{\frac{9}{R}} \Rightarrow there is the thread$ Equilibrium position $\cos \theta_{eg} = \frac{4}{R} n^2$ (2) Coefficient is the backets in negative for By-J. Unstable (A)

 $\sin \theta = \sin \left(\frac{\theta_{g}}{\theta_{g}} + \frac{\eta}{2} \right) = \sin \theta_{eg} + \eta \cos \theta_{g} + 0 \left(\frac{\theta_{g}}{\theta_{g}} + \frac{\eta}{2} \right)$ $\sin \theta \cos \theta = \cos \theta_{g} \sin \theta_{eg} - \eta \sin \theta_{eg} + \eta \sin$ $interpretation = \int \frac{1}{\sqrt{2}} \int \frac{1}{\sqrt{2}}$ $(\cos \Phi = \cos(\theta_{2} + \eta) = \cos \theta_{2} - \eta \sin \theta_{2} + O(\eta)$ Salculation of prequencies of small $\frac{\underline{a}}{\underline{R}} \cos \theta_{\underline{q}} - 2 \mathcal{N}^{2} \cos^{2} \theta_{\underline{q}} + \mathcal{N}^{2} = \frac{\underline{a}}{\underline{R}} \cdot \frac{\underline{a}}{\underline{R} \cdot \underline{n}^{2}} - 2 \mathcal{N}^{2} \cdot \frac{\underline{a}^{2}}{\underline{R}^{2} \cdot \underline{n}^{4}} +$ Stable (exists only if I > Va $\frac{\mathcal{A}^{2}}{\mathcal{R}^{2}n^{2}} - \frac{\mathcal{A}^{2}}{\mathcal{R}^{2}n^{2}} + \mathcal{N}^{2} = \frac{\mathcal{I}}{\mathcal{N}^{2}} \left(\mathcal{N}^{4} - \frac{\mathcal{A}^{2}}{\mathcal{R}^{2}} \right) > O$ This expression gives the Fellowing Results of frequencies for small ascillation $\mathcal{W} = \sqrt{\frac{4}{R}} \cos \theta_{q} - \partial \cos 2\theta_{q} =$ $= \left\{ \frac{\sqrt{\frac{4}{R}} - \int_{1}^{2}}{\int_{1}^{2} F_{DR} + \frac{1}{e_{2}}} = 0 \right\}$ $\left(\sqrt{\mathcal{N}^{4}-\left(\frac{g}{R}\right)^{2}}\right)^{2}$ For $\mathcal{C}_{2} = Akcces \frac{g}{R}$

Note: New solution to 3(b)(iii), 2006/12/03.

 $\mathcal{Q}(t) = \int dt' F(t) G(t-t') =$ PRoblem 4 The Driving force is $F(t) = F_0(1 - e^{-\lambda t}) \cdot O(t)$. $I_{\lambda} = \int_{0}^{t} e^{-\frac{t-t}{2\alpha}} \sin[tu'(t-t')] \cdot J \cdot t' = \operatorname{Re} \int_{0}^{t} (-t \cdot e^{-\frac{t-t}{2\alpha}} + iut \cdot t) \cdot O(t) \cdot O(t)$ $\left(\frac{1}{t} \left(t - t' \right) = \frac{t}{\omega'} \cdot e_{x} p \left[-\frac{t-t}{2Q} \right] = sin \left[\frac{1}{\omega'} \left(t - t' \right) \right] \cdot \left(t - t' \right)$ $\frac{t}{\omega'}\int_{\varepsilon}^{t} \frac{dt}{dt} = \frac{t}{2\alpha} \int_{\varepsilon}^{\varepsilon} \frac{dt}{2\alpha} \int_{\varepsilon}^{\varepsilon} \frac{dt}{\omega'} \int_{\varepsilon}^{\varepsilon} \frac{dt}{\omega'} \int_{\varepsilon}^{\varepsilon} \frac{dt}{2\alpha} - \frac{t}{2\alpha} \int_{\varepsilon}^{\varepsilon} \frac{dt}{2\alpha} - \frac{t}{2\alpha} \int_{\varepsilon}^{\varepsilon} \frac{dt}{2\alpha} \int_{$ $= \frac{F_{e}}{\omega'} \int \ell \frac{t}{2\alpha} \cdot \frac{(t-t')}{2\alpha} \int \omega'(t-t') \int \left(1 - e^{-\lambda t'}\right) dt' =$ Oscillator is given in the lecture notes (page 177, 593) Green's FUNCTION for the Underdamped $=\frac{1}{2}\int_{-\infty}^{\infty} x \sin\left(\omega'(t-t')\right) dt'$ Means F(t)=0 Fur t<0 Let's consider method of complex variables $= \operatorname{Re}\left[-2\frac{1}{2Q}-\frac{1}{2Q}+\frac{1}{2Q}-\frac{1}{2Q}+\frac{1}{2Q}\left(2-\frac{1}{2Q}\right)\right]\mathcal{E}$ One method is complex variables Sin w = Refie iwx] And the second method apply two times integration by parts There are two ways of calculating the integral of the type fersion winds $= \operatorname{Re}\left[\frac{-i\left(\frac{1}{2Q} + i\omega'\right)}{\left(\frac{1}{2Q}\right)^{2} + \left(\omega'\right)^{2}} \times \left(1 - e^{-\frac{k}{2Q}} + i\omega'\right)\right]_{z}$ $=\frac{\omega'}{\left(\frac{1}{2Q}\right)^2+\left(\omega'\right)^2}\times\left(1-\frac{2}{2Q}-\frac{2}{2Q}\right)$ N

 $= \operatorname{Re}\left[\frac{-2}{2d+\frac{1}{2Q}-i\omega}\cdot \frac{(d+2)}{2Q}-\frac{1}{2Q}\cdot \frac{(d+2)}{2Q}+\frac{1}{2Q}+\frac{1}{2Q}+\frac{1}{2Q}\right]_{0}^{1}$ $= \operatorname{Re}\left[\int_{-i\cdot exp}^{t} \int_{-dt}^{-dt} - \frac{t-t'}{2Q} + i\omega'(t-t')\right]_{dt}$ $\frac{1}{2(Q)\left[\frac{1}{QQ}\right]^{2}} + (\omega')^{2} \frac{1}{2} \frac{\mathcal{E} \mathcal{E} \mathcal{E} \mathcal{E} \left[\frac{t}{2Q}\right]^{2} \sin \omega' \mathcal{E}}{2(\omega')^{2}}$ $-\frac{\left(\frac{t_{e}}{2q_{w}}\right)\left(\frac{t}{1/2}+\left(\omega^{\prime}\right)^{2}\right)^{k}}{\left(\frac{t}{2q_{w}}+\left(\omega^{\prime}\right)^{2}\right)^{k}}e^{-\frac{t_{e}}{2q_{w}}}$ $\frac{Theirefore}{2(t)} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} - \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I_{c}} = \frac{F_{c}}{\omega_{1}} \frac{I_{c}}{I_{c}} \frac{I_{c}}{I$ $\frac{F_{\text{cl}}}{\left(\frac{1}{2}\sqrt{2}-1\right)^{2}+\left(\sqrt{2}\right)^{2}}\cdot\left(\mathcal{C}\cdot\mathcal{A}^{\text{cl}}_{\text{cl}}-\mathcal{C}\cdot\frac{1}{2\sqrt{2}},\frac{1}{2\sqrt{2}}\right)-\frac{1}{2}$ $-\frac{\int \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2 + (\omega')^2} \cdot C - \frac{t}{2\alpha} \cdot \frac{d}{(2\alpha - a)^2 + (\omega')^2 + (\omega'$ $= \frac{\omega}{(2q^2 + 1)^2} \sqrt{\frac{\omega}{(\omega)^2}} \sqrt{\frac{\omega}{\omega}} \sqrt{\frac{\omega}$ $(\frac{1}{2\overline{\alpha}} - \frac{1}{2})^{2} + (\omega')^{2} + (\frac{1}{2})^{2} + (\omega')^{2} + (\omega')^{2$ (-

12

Problem 5

For a conservative system, the Hamiltonian $H(q_i, p_i)$ is independent of t. Consider a canonical transformation in which the new coordinates are $\gamma_i(\alpha_k)$, independent functions of α_k , where α_k are constants of the motion and, in particular, α_1 is the constant of motion, H. If the generating function for this transformation be denoted by W(p, Q), then the equations of the transformation are

$$q_i = -\frac{\partial W}{\partial p_i}, \ P_i = -\frac{\partial W}{\partial Q_i} = -\frac{\partial W}{\partial \gamma_i}$$

The condition now determining $W(p, \gamma_i(\alpha_k))$ is that H shall be equal to α_1 for the conservative system

$$H(q_i, p_i) + \frac{\partial W}{\partial t} = H(q_i, p_i) = \alpha_1$$
$$\Rightarrow H\left(-\frac{\partial W}{\partial p_i}, p_i\right) = \alpha_1$$

where we use the fact W is independent of t and α_1 is a function of new coordinates are γ_i . The equations of motion are

$$\dot{P}_{i} = -\frac{\partial H}{\partial Q_{i}} = -\frac{\partial H}{\partial \gamma_{i}} = -v_{i} (\gamma_{k}) \Rightarrow P_{i} = v_{i}t + \beta_{i}$$
$$\dot{Q}_{i} = \frac{\partial H}{\partial P_{i}} = 0 \qquad Q_{i} = \gamma_{i}$$

The equations

$$P_{i} = v_{i}(\gamma_{k}) t + \beta_{i} = -\frac{\partial W(p, \gamma_{i}(\alpha_{k}))}{\partial \gamma_{i}}$$

can be "turned inside out" to furnish p_i in terms of α , β and t:

$$p_i = p_i \left(\alpha, \beta, t \right) \tag{3}$$

After the differentiation in

$$q_{i} = -\frac{\partial W\left(p, \gamma_{i}\left(\alpha_{k}\right)\right)}{\partial p_{i}}$$

has been performed, Eq. (3) may be substituted for the p's, thus giving q_i as functions of α , β and t:

$$q_i = q_i\left(\alpha, \beta, t\right)$$

We can use

$$q_i|_{t=0} = -\frac{\partial W\left(p, \gamma_i\left(\alpha_k\right)\right)}{\partial p_i}|_{t=0}$$

to express α_i or $\gamma_i(\alpha_k)$ in terms of the initial conditions $q_i|_{t=0}$ and $p_i|_{t=0}$. The constants β_i can be obtained from the initial conditions by

$$P_{i} = v_{i}(\gamma_{k}) t + \beta_{i} = -\frac{\partial W(p, \gamma_{i}(\alpha_{k}))}{\partial \gamma_{i}}|_{t=0}$$